
Construct?

Description

Give you P , a permutation of 1 to n. You must construct a new permutation P ′ by swapping two numbers of P
such that F (P )− F (P ′) is maximized.

F (P ) =
n∑

i=1
Pi −G(P, i), where

G(P, i) =
i∑

j=1
H(Pj × ePi , Pi × ePj ), where

H(a, b) = d
log3(ba

b c+ 1)
n

e

Input

The file contains several test cases. Each test case begins with an integer n, followed by n integers that represent P .

• 2 ≤ n ≤ 2000

Output

For each test case, print the maximum value of F (P )− F (P ′) among all the possible P ′.

Sample Input

5 5 4 3 2 1
5 1 3 2 4 5

Sample Output

7
1

1
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